

**SOME FIXED POINT THEOREMS
IN QUASI 2-BANACH SPACE UNDER QUASI WEAK CONTRACTIONS**

B. STEPHEN JOHN¹ AND LEENA NELSON S.N.^{2*}

¹Associate Professor, Dept. of Mathematics,
Annai Velankanni College, Tholayavattom, K. K. Dist. Tamilnadu, India.

²Assistant Professor, Dept. of Mathematics,
Women's Christian College, Nagercoil, K. K. Dist. Tamilnadu, India.

(Received On: 30-12-17; Revised & Accepted On: 10-08-18)

ABSTRACT

C. Park [13] introduced the term of a quasi 2-normed space. Also he proved some properties of quasi 2-norm and M. Kir and M. Acikgoz[9] elaborated the procedure for completing the quasi 2-normed space. In this paper, we prove some fixed point theorems for self mappings in quasi-2-Banach space via ϕ' -contraction mapping and Quasi weak contractions.

Keywords: *Quasi 2-Banach space, fixed point, nonlinear contraction, comparison function.*

I. INTRODUCTION

The theory of 2-normed space and 2-Banach space were initiated by Gahler. These new spaces have subsequently been studied by several mathematicians. In 2006, Park introduced the concepts of quasi-2-normed space and quasi-(2,p)-normed spaces. One of the most interesting area in fixed point theorems is to introduce and proved some theorems under contractions of type almost contraction.

The organization of the paper is as follows: Section II comprises some preliminary definitions and results, which are used in this paper. In Section III, we establish fixed point theorems in Quasi 2-Banach space.

II. SOME PRELIMINARY RESULTS

Definition 2.1 Let X be a linear space and $\|\cdot, \cdot\|$ be a real valued function defined on X satisfying the following conditions:

- (i) $\|x, y\| = 0$ if and only if x and y are linearly dependent.
 - (ii) $\|x, y\| = \|y, x\|$ for all $x, y \in X$
 - (iii) $\|x, y + z\| \leq \|x, y\| + \|x, z\|$ for all $x, y, z \in X$
- $\|\cdot, \cdot\|$ is called a 2-norm and the pair $(X, \|\cdot, \cdot\|)$ is called a linear 2-normed space.

Definition 2.2: Let X be a linear space. A quasi-2-norm is a real-valued function on $X \times X$ satisfying the following conditions:

- (iv) $\|x, y\| = 0$ if and only if x and y are linearly dependent.
- (i) $\|x, y\| = \|y, x\|$ for all $x, y \in X$
- (ii) $\|\alpha x, y\| \leq |\alpha| \|x, y\|$
- (iii) There is a constant $k \geq 1$ such that $\|x + y, z\| \leq k \|x, z\| + K \|y, z\|$ for all $x, y, z \in X$.

The pair $(X, \|\cdot, \cdot\|)$ is called a quasi-2-normed space if $\|\cdot, \cdot\|$ is a quasi-2-norm on X . The smallest possible K is called the modulus of concavity of $\|\cdot, \cdot\|$.

Corresponding Author: Leena Nelson S.N.^{3*}

³Assistant Professor, Dept. of Mathematics,
Women's Christian College, Nagercoil, K. K. Dist. Tamilnadu, India.

Definition 2.3: Let X be a quasi-2-normed space. A sequence $\{x_n\}$ in X is called a Cauchy sequence if

$$\lim_{m,n \rightarrow \infty} \|x_m - x_n, z\| = 0 \text{ for all } z \in X.$$

Definition 2.4: A sequence $\{x_n\}$ in X is said to be a convergent if there is a point $x \in X$ such that

$$\lim_{n \rightarrow \infty} \|x_n - x, z\| = 0 \text{ for all } z \in X.$$

Definition 2.5: A quasi-2-normed space in which every Cauchy sequence converges is called complete.

Definition 2.6: A complete quasi-2-normed space is called a quasi-2-Banach space.

Example 2.7: Let E_3 denotes the Euclidean vector three spaces. Let $x = ai + bj + ck$ and $y = di + ej + fk$. Define

$$\|x, y\| = |x \times y| = \text{abs} \begin{vmatrix} i & j & k \\ a & b & c \\ d & e & f \end{vmatrix}$$

$$= (i(bf - ce)^2 + j(cd - af)^2 + k(ae - bd)^2)^{1/2}$$

Then $(E_3, \|\cdot, \cdot\|)$ quasi 2-Banach space.

Example 2.8: Let X be a linear space with $\dim X \geq 2$, and let $\|\cdot, \cdot\|$ be 2-norm on X . Define $\|x, y\|_q = 2\|x, y\|$ is a quasi 2-norm on X and $(X, \|\cdot, \cdot\|_q)$ is a quasi-2-normed space.

Solution:

- (i) $\|x, y\|_q = 0$ if and only if $2\|x, y\| = 0$ if and only if $\|x, y\| = 0$ if and only if x and y are linearly dependent.
- (ii) $\|x, y\|_q = 2\|x, y\| = 2\|y, x\| = \|y, x\|_q$
- (iii) $\|\alpha x, y\|_q = 2\|\alpha x, y\| = |\alpha|(2\|x, y\|) = |\alpha|\|x, y\|_q$
- (iv) For all $x, y, z \in X$, $\|x + y, z\|_q = 2\|x + y, z\| \leq 2[\|x, z\| + \|y, z\|]$
 $= 2\|x, z\| + 2\|y, z\| = \|x, z\|_q + \|y, z\|_q$

Thus, $(X, \|\cdot, \cdot\|_q)$ is a quasi 2-normed space.

Definition 2.9: Let $(X, \|\cdot, \cdot\|_X)$ and $(Y, \|\cdot, \cdot\|_Y)$ be quasi-2-normed spaces. A mapping $T: X \rightarrow Y$ is said to be isometric or isometry, if for all $x, y \in X$, $\|Tx, Ty\|_Y = \|x, y\|_X$.

The space X is said to be isometry with the space Y if there exists a bijective isometry of X onto Y . The spaces X and Y are called isometric spaces.

Definition 2.10: The function $\varphi: [0, \infty) \rightarrow [0, \infty)$ is called a c -comparison function if the following properties are satisfied:

- (i) φ is monotonic increasing
- (ii) $\sum_{n=0}^{\infty} \varphi^n(t) < \infty$ for all $t \geq 0$.

Clearly φ is a c -comparison function then $\varphi(t) < t$ for all $t > 0$ and $\varphi(0) = 0$.

Definition 2.11: Let $(X, \|\cdot, \cdot\|)$ be a quasi-2-Banach space. A self mapping $T: X \rightarrow X$ is called a quasi (φ, L) -weak contraction if there exist a c -comparison function φ and some $L \geq 0$ such that for all $x, y \in X$,

$$\|Tx - Ty, u\| \leq \varphi\|x - y, u\| + L \min\{\|x - Ty, u\|_m, \|y - Tx, u\|_m, \|x - Tx, u\|_m\}. \quad (1)$$

Definition 2.12: Let $(X, \|\cdot, \cdot\|)$ be a quasi-2-Banach space. A self mapping $T: X \rightarrow X$ is called a quasi (α, L) -weak contraction if there exist $\alpha \in [0, 1)$ and some $L \geq 0$ such that for all $x, y \in X$, the function T satisfies the following condition:

$$\|Tx - Ty, u\| \leq \alpha \max \left\{ \|x - y, u\|, \|x - Tx, u\|, \|y - Ty, u\|, \frac{\|x - Ty, u\| + \|y - Tx, u\|}{2} \right\} +$$

$$L \min\{\|x - Ty, u\|_m, \|y - Tx, u\|_m, \|x - Tx, u\|_m\}. \quad (2)$$

III. NEW RESULTS AND THEOREMS

Theorem 3.1: Let $(X, \|\cdot, \cdot\|)$ be a complete quasi-2-Banach space and $T: X \rightarrow X$ be a self mapping such that T is a quasi (φ, L) -weak contraction. Then T has a unique fixed point in X .

Proof: Let $x_0 \in X$ and define a sequence (x_n) in X by taking $x_{n+1} = Tx_n, n \geq 0$.

If there exists $r \in N$ such that $x_r = x_{r+1}$, then x_r is a fixed point of T .

Suppose that $x_n \neq x_{n+1}$, for all $n \in N$.

Substitute $x = x_{n-1}$ and $y = x_n$ in (1)

$$\begin{aligned}
\|x_n - x_{n+1}, u\| &= \|Tx_{n-1} - Tx_n, u\| \\
&\leq \varphi\|x_{n-1} - x_n, u\| + L\min\{\|x_{n-1} - Tx_n, u\|_m, \|x_n - Tx_{n-1}, u\|_m, \|x_{n-1} - Tx_{n-1}, u\|_m\} \\
&= \varphi\|x_{n-1} - x_n, u\| + L\min\{\|x_{n-1} - x_{n+1}, u\|_m, \|x_n - x_n, u\|_m, \|x_{n-1} - x_{n+1}, u\|_m\} \\
&= \varphi\|x_{n-1} - x_n, u\| + L\min\{\|x_{n-1} - x_{n+1}, u\|_m, 0, \|x_{n-1} - x_{n+1}, u\|_m\} \\
&= \varphi\|x_{n-1} - x_n, u\|
\end{aligned}$$

Therefore, $\|x_n - x_{n+1}, u\| \leq \varphi \|x_{n-1} - x_n, u\|$

$$\begin{aligned} \text{Since } \varphi \text{ is increasing, we have } \|x_n - x_{n+1}, u\| &\leq \varphi \|x_{n-1} - x_n, u\| \\ &\leq \varphi^2 \|x_{n-2} - x_{n-1}, u\| \\ &... .. \\ &... .. \\ &\leq \varphi^n \|x_0 - x_1, u\| \end{aligned}$$

Thus, $\|x_n - x_{n+1}, u\| \leq \varphi^n \|x_0 - x_1, u\|$

Similarly, we can deduce that $\|x_{n+1} - x_n, u\| \leq \varphi^n \|x_1 - x_0, u\|$

Now we can prove that (x_n) is a Cauchy sequence.

To prove this, we have to prove that (x_n) is left-Cauchy and right-Cauchy sequence.

Let $n, m \in \mathbb{N}$ such that $n > m$.

Then by the triangle inequality, we have

$$\begin{aligned} \|x_n - x_m, u\| &\leq \|x_n - x_{n-1}, u\| + \|x_{n-1} - x_{n-2}, u\| + \cdots + \|x_{m+1} - x_m, u\| \\ &= \sum_{i=m}^{n-1} \|x_{i+1} - x_i, u\| \\ &= \sum_{i=m}^{n-1} \varphi^{i+1}(\|x_1 - x_0, u\|) \end{aligned}$$

Since φ is c-comparison function, then $\sum_{i=m}^{\infty} \varphi^{i+1}(\|x_1 - x_0, u\|)$ is convergent.

Therefore, $\sum_{i=m}^{\infty} \varphi^{i+1}(\|x_1 - x_0, u\|) < \epsilon$, for any $\epsilon > 0$ and for all $m \geq N$.

Hence, for $n, m \geq N$, we have $\|x_n - x_m, u\| \leq \sum_{i=m}^{n-1} \varphi^{i+1}(\|x_1 - x_0, u\|)$
 $\leq \sum_{i=m}^{\infty} \varphi^{i+1}(\|x_1 - x_0, u\|)$
 $< \epsilon$

Thus, $\|x_n - x_m, u\| < \epsilon$.

In the same way, we can show that (x_n) is a right-Cauchy sequence.

Thus, the sequence (x_n) is a Cauchy sequence in the space $(X, \|\cdot, \cdot\|)$.

Since, $(X, \|\cdot, \cdot\|)$ is complete, we have $\lim_{n \rightarrow \infty} \|x_n - x_{n+1}, u\| = 0$.

Let $\lim_{n \rightarrow \infty} x_n = \lim_{n \rightarrow \infty} T^n x_n = \alpha \in X$.

The limit α is unique.

Assume that $\alpha' \neq \alpha$ and $\alpha' = \lim_{n \rightarrow \infty} x_n$.

Now, we have

$$\begin{aligned} \|x_n - T\alpha, u\| &= \|Tx_{n-1} - T\alpha, u\| \\ &\leq \varphi \|x_{n-1} - \alpha, u\| + L \min \left\{ \frac{\|x_{n-1} - T\alpha, u\|_m \|\alpha - x_n, u\|_m}{\|x_{n-1} - x_n, u\|_m} \right\} \\ &< \|x_{n-1} - \alpha, u\| + L \min \left\{ \frac{\|x_{n-1} - T\alpha, u\|_m \|\alpha - x_n, u\|_m}{\|x_{n-1} - x_n, u\|_m} \right\} \end{aligned}$$

Taking the limit as $n \rightarrow \infty$, we get

$$\lim_{n \rightarrow \infty} \|x_n - T\alpha, u\| = 0$$

That is, $\|\alpha - T\alpha, u\| = 0$.

$$\begin{aligned} \text{Also, } \|T\alpha - x_n, u\| &= \|T\alpha - Tx_{n-1}, u\| \\ &\leq \varphi \|\alpha - x_{n-1}, u\| + L \min \left\{ \|\alpha - x_n, u\|_m, \|x_{n-1} - T\alpha, u\|_m, \right. \\ &\quad \left. \|\alpha - T\alpha, u\|_m \right\} \\ &< \|\alpha - x_{n-1}, u\| + L \min \left\{ \|\alpha - x_n, u\|_m, \|x_{n-1} - T\alpha, u\|_m, \right. \\ &\quad \left. \|\alpha - T\alpha, u\|_m \right\} \end{aligned}$$

Taking the limit as $n \rightarrow \infty$, we get

$$\lim_{n \rightarrow \infty} \|T\alpha - x_n, u\| = 0$$

That is, $\|T\alpha - x_n, u\| = 0$.

Thus we have, $\|\alpha - T\alpha, u\| = 0$ for all $u \in X$.

By uniqueness of the limit we have $T\alpha = \alpha$.

So, α is a fixed point of T .

Finally, we show that the fixed point is unique.

Assume that $\alpha' \neq \alpha$ is also a fixed point of T .

That is, $T\alpha = \alpha$ and $T\alpha' = \alpha'$.

$$\begin{aligned} \text{Now, } \|\alpha - \alpha', u\| &= \|T\alpha - T\alpha', u\| \\ &\leq \varphi \|\alpha - \alpha', u\| + L \min \{ \|\alpha - \alpha', u\|_m, \|\alpha' - \alpha, u\|_m, \|\alpha - T\alpha, u\|_m \} \\ &= \varphi \|\alpha - \alpha', u\| + L \min \{ \|\alpha - \alpha', u\|_m, \|\alpha' - \alpha, u\|_m, \|\alpha - \alpha, u\|_m \} \\ &= \varphi \|\alpha - \alpha', u\| + L \min \{ \|\alpha - \alpha', u\|_m, \|\alpha' - \alpha, u\|_m, 0 \} \\ &= \varphi \|\alpha - \alpha', u\| \end{aligned}$$

If $\|\alpha - \alpha', u\| > 0$ then $\|\alpha - \alpha', u\| \leq \varphi \|\alpha - \alpha', u\| < \|\alpha - \alpha', u\|$

which is a contradiction.

Therefore, $\|\alpha - \alpha', u\| = 0$.

Thus we get $\alpha = \alpha'$.

This completes the proof of the theorem.

Theorem 3.2: Let $(X, \|\cdot, \cdot\|)$ be a complete quasi-2-Banach space and $T: X \rightarrow X$ be a self mapping such that T is a quasi (α, L) -weak contraction. Then T has a unique fixed point in X .

Proof: Let $x_0 \in X$ and define a sequence (x_n) in X by taking $x_{n+1} = Tx_n, n \geq 0$.

If there exists $r \in N$ such that $x_r = x_{r+1}$, then x_r is a fixed point of T .

Suppose that $x_n \neq x_{n+1}$, for all $n \in N$.

Substitute $x = x_{n-1}$ and $y = x_n$ in (2)

$$\begin{aligned} \|Tx_{n-1} - Tx_n, u\| &\leq \alpha \max \left\{ \frac{\|x_{n-1} - x_n, u\|, \|x_{n-1} - Tx_{n-1}, u\|, \|x_n - Tx_n, u\|}{\|x_{n-1} - Tx_n, u\| + \|x_n - Tx_{n-1}, u\|}, \right. \\ &\quad \left. L \min \{ \|x_{n-1} - Tx_n, u\|_m, \|x_n - Tx_{n-1}, u\|_m, \|x_{n-1} - Tx_{n-1}, u\|_m \} \right\} + \\ &= \alpha \max \left\{ \frac{\|x_{n-1} - x_n, u\|, \|x_{n-1} - x_n, u\|, \|x_n - x_{n+1}, u\|}{\|x_{n-1} - x_{n+1}, u\| + \|x_n - x_n, u\|}, \right. \\ &\quad \left. L \min \{ \|x_{n-1} - x_{n+1}, u\|_m, \|x_n - x_n, u\|_m, \|x_{n-1} - x_n, u\|_m \} \right\} + \\ &= \alpha \max \left\{ \frac{\|x_{n-1} - x_n, u\|, \|x_n - x_{n+1}, u\|, \frac{\|x_{n-1} - x_{n+1}, u\| + 0}{2}}{\|x_{n-1} - x_{n+1}, u\| + \frac{\|x_{n-1} - x_{n+1}, u\| + 0}{2}}, \right. \\ &\quad \left. L \min \{ \|x_{n-1} - x_{n+1}, u\|_m, 0, \|x_{n-1} - x_n, u\|_m \} \right\} \end{aligned}$$

$$\begin{aligned}
 &= \alpha \max \left\{ \|x_{n-1} - x_n, u\|, \|x_n - x_{n+1}, u\|, \frac{\|x_{n-1} - x_{n+1}, u\|}{2} \right\} + L \times 0 \\
 &= \alpha \max \left\{ \|x_{n-1} - x_n, u\|, \|x_n - x_{n+1}, u\|, \frac{\|x_{n-1} - x_{n+1}, u\|}{2} \right\} \\
 &\leq \alpha \max \left\{ \|x_{n-1} - x_n, u\|, \|x_n - x_{n+1}, u\|, \frac{\|x_{n-1} - x_n, u\| + \|x_n - x_{n+1}, u\|}{2} \right\} \\
 &= \alpha \max \{ \|x_{n-1} - x_n, u\|, \|x_n - x_{n+1}, u\| \}
 \end{aligned}$$

If $\max\{\|x_{n-1} - x_n, u\|, \|x_n - x_{n+1}, u\|\} = \|x_n - x_{n+1}, u\|$ then
 $\|x_n - x_{n+1}, u\| \leq \alpha \|x_n - x_{n+1}, u\|$

which is a contradiction.

Therefore, $\max\{\|x_{n-1} - x_n, u\|, \|x_n - x_{n+1}, u\|\} = \|x_{n-1} - x_n, u\|$.

So, $\|x_n - x_{n+1}, u\| \leq \alpha \|x_{n-1} - x_n, u\|$. (3)

Similarly, by taking $x = x_n$ and $y = x_{n-1}$ in (2) we get,

$$\begin{aligned}
 \|Tx_n - Tx_{n-1}, u\| &\leq \alpha \max \left\{ \|x_n - x_{n-1}, u\|, \|x_n - Tx_n, u\|, \|x_{n-1} - Tx_{n-1}, u\|, \right. \\
 &\quad \left. \frac{\|x_n - Tx_{n-1}, u\| + \|x_{n-1} - Tx_n, u\|}{2} \right\} + \\
 &\quad L \min\{\|x_n - Tx_{n-1}, u\|_m, \|x_{n-1} - Tx_n, u\|_m, \|x_n - Tx_n, u\|_m\}
 \end{aligned}$$

That is,

$$\begin{aligned}
 \|x_{n+1} - x_n, u\| &\leq \alpha \max \left\{ \|x_n - x_{n-1}, u\|, \|x_n - x_{n+1}, u\|, \|x_{n-1} - x_n, u\|, \right. \\
 &\quad \left. \frac{\|x_n - x_n, u\| + \|x_{n-1} - x_{n+1}, u\|}{2} \right\} + \\
 &\quad L \min\{\|x_n - x_n, u\|_m, \|x_{n-1} - x_{n+1}, u\|_m, \|x_n - x_{n+1}, u\|_m\} \\
 &= \alpha \max \left\{ \|x_n - x_{n-1}, u\|, \|x_n - x_{n+1}, u\|, \|x_{n-1} - x_n, u\|, \right. \\
 &\quad \left. \frac{0 + \|x_{n-1} - x_{n+1}, u\|}{2} \right\} + \\
 &\quad L \min\{0, \|x_{n-1} - x_{n+1}, u\|_m, \|x_n - x_{n+1}, u\|_m\} \\
 &= \alpha \max \left\{ \|x_n - x_{n-1}, u\|, \|x_n - x_{n+1}, u\|, \|x_{n-1} - x_n, u\|, \right. \\
 &\quad \left. \frac{\|x_{n-1} - x_{n+1}, u\|}{2} \right\} + L \times 0 \\
 &= \alpha \max \left\{ \|x_n - x_{n-1}, u\|, \|x_n - x_{n+1}, u\|, \|x_{n-1} - x_n, u\|, \right. \\
 &\quad \left. \frac{\|x_{n-1} - x_{n+1}, u\|}{2} \right\} \\
 &\leq \alpha \max \left\{ \|x_n - x_{n-1}, u\|, \|x_n - x_{n+1}, u\|, \|x_{n-1} - x_n, u\|, \right. \\
 &\quad \left. \frac{\|x_{n-1} - x_n, u\| + \|x_n - x_{n+1}, u\|}{2} \right\} \\
 &= \alpha \max\{\|x_n - x_{n-1}, u\|, \|x_n - x_{n+1}, u\|, \|x_{n-1} - x_n, u\|\}
 \end{aligned}$$

From (3) we have, $\|x_{n+1} - x_n, u\| \leq \alpha \max\{\|x_{n-1} - x_n, u\|, \|x_n - x_{n-1}, u\|\}$ (4)

Also, from (3) we have, $\|x_n - x_{n+1}, u\| \leq \alpha \|x_{n-1} - x_n, u\|$
 $\leq \alpha \max\{\|x_{n-1} - x_n, u\|, \|x_n - x_{n-1}, u\|\}$ (5)

From (4) and (5) we have,

$$\max\{\|x_{n+1} - x_n, u\|, \|x_n - x_{n+1}, u\|\} \leq \alpha \max\{\|x_{n-1} - x_n, u\|, \|x_n - x_{n-1}, u\|\}$$

By repeating the previous steps $(n - 1)$ times, we get

$$\max\{\|x_{n+1} - x_n, u\|, \|x_n - x_{n+1}, u\|\} \leq \alpha^n \max\{\|x_1 - x_0, u\|, \|x_0 - x_1, u\|\}$$

Let $\max\{\|x_1 - x_0, u\|, \|x_0 - x_1, u\|\} = M$.

Then $\max\{\|x_{n+1} - x_n, u\|, \|x_n - x_{n+1}, u\|\} \leq \alpha^n M$

Hence, we have $\|x_n - x_{n+1}, u\| \leq \alpha^n M$. (6)

and $\|x_{n+1} - x_n, u\| \leq \alpha^n M$. (7)

Now, we show that (x_n) is a Cauchy sequence.

For that we can show that (x_n) is left-Cauchy and right-Cauchy.

Let $m, n \in N$ such that $n > m$.

Then by using the triangle inequality and (7) we have,

$$\begin{aligned}\|x_n - x_m, u\| &\leq \|x_n - x_{n-1}, u\| + \|x_{n-1} - x_{n-2}, u\| + \dots + \|x_{m+1} - x_m, u\| \\ &= \sum_{i=m}^{n-1} \|x_{i+1} - x_i, u\| \\ &\leq \sum_{i=m}^{n-1} \alpha^{i+1} M \\ &\leq \sum_{i=m}^{\infty} \alpha^{i+1} M \\ &= M \sum_{i=m}^{\infty} \alpha^{i+1} \\ &= \frac{\alpha^{m+1}}{1-\alpha} M\end{aligned}$$

Since, $\alpha < 1$, then for any $\epsilon > 0$ such that $\frac{\alpha^{m+1}}{1-\alpha} < \frac{\epsilon}{M}$, for all $m \geq N$.

Thus, for $n, m \in N$ with $n > m \geq N$, we have, $\|x_n - x_m, u\| \leq \frac{\alpha^{m+1}}{1-\alpha} M < \frac{\epsilon}{M} M = \epsilon$.

Therefore, $\|x_n - x_m, u\| < \epsilon$.

Hence, (x_n) is a left-Cauchy sequence.

Similarly, we can show that (x_n) is a right-Cauchy sequence.

Thus, the sequence (x_n) is a Cauchy sequence in the space $(X, \|\cdot, \cdot\|)$.

Since $(X, \|\cdot, \cdot\|)$ is complete, there exists $a \in X$ such that

$$\lim_{n \rightarrow \infty} \|x_n - a, u\| = \lim_{n \rightarrow \infty} \|a - x_n, u\| = 0.$$

Now, by (2) we have $\|x_n - Ta, u\| = \|Tx_{n-1} - Ta, u\|$

$$\begin{aligned}&\leq \alpha \max \left\{ \|x_{n-1} - a, u\|, \|x_{n-1} - x_n, u\|, \|a - Ta, u\|, \frac{\|x_{n-1} - Ta, u\| + \|a - x_n, u\|}{2} \right\} + \\ &L \min \{ \|x_{n-1} - Ta, u\|_m, \|a - x_n, u\|_m, \|x_{n-1} - x_n, u\|_m \}\end{aligned}$$

By taking the limit as $n \rightarrow \infty$, we get $\|a - Ta, u\| \leq \alpha \|a - Ta, u\|$.

Since $\alpha < 1$, then $\|a - Ta, u\| = 0$.

Hence $Ta = a$.

Therefore, a is a fixed point of T .

Finally, we show that the fixed point a is unique.

Assume that $b \neq a$ is also a fixed point of T .

Then $Tb = b$.

By (2) we have, $\|a - b, u\| = \|Ta - Tb, u\|$

$$\begin{aligned}&\leq \alpha \max \left\{ \|a - b, u\|, \|a - Ta, u\|, \|b - Tb, u\|, \frac{\|a - Tb, u\| + \|b - Ta, u\|}{2} \right\} \\ &\quad + L \min \{ \|a - Tb, u\|_m, \|b - Ta, u\|_m, \|a - Ta, u\|_m \} \\ &= \alpha \max \left\{ \|a - b, u\|, \|a - a, u\|, \|b - b, u\|, \frac{\|a - Tb, u\| + \|b - Ta, u\|}{2} \right\} \\ &\quad + L \min \{ \|a - Tb, u\|_m, \|b - Ta, u\|_m, \|a - a, u\|_m \}\end{aligned}$$

$$\begin{aligned}
 &= \alpha \max \left\{ \|a - b, u\|, 0, 0, \frac{\|a - Tb, u\| + \|b - Ta, u\|}{2} \right\} \\
 &\quad + L \min \{ \|a - Tb, u\|_m, \|b - Ta, u\|_m, 0 \} \\
 &= \alpha \max \left\{ \|a - b, u\|, \frac{\|a - Tb, u\| + \|b - Ta, u\|}{2} \right\} + 0 \\
 &= \alpha \max \left\{ \|a - b, u\|, \frac{\|a - Tb, u\| + \|b - Ta, u\|}{2} \right\}
 \end{aligned}$$

Therefore, $\|a - b, u\| \leq \alpha \max \left\{ \|a - b, u\|, \frac{\|a - Tb, u\| + \|b - Ta, u\|}{2} \right\}$.

By the same argument, we have

$$\|b - a, u\| \leq \alpha \max \left\{ \|b - a, u\|, \frac{\|b - Ta, u\| + \|a - Tb, u\|}{2} \right\}$$

Thus $\max \{ \|a - b, u\|, \|b - a, u\| \} \leq \alpha \max \left\{ \|a - b, u\|, \|b - a, u\|, \frac{\|a - Tb, u\| + \|b - Ta, u\|}{2} \right\}$
 $= \alpha \max \{ \|a - b, u\|, \|b - a, u\| \}$

Since $\alpha < 1$, we get that $\|a - b, u\| = \|b - a, u\| = 0$.

Thus, we have again $a = b$.

This completes the proof of the theorem.

CONCLUSION

In this paper we proved fixed point theorems in quasi-2-Banach space via quasi weak contractions. The results of this paper extend the previously known results for metric space in a quasi-2-Banach space.

REFERENCES

1. Aleksa Malceski, Risto Malceski, Katerina Anevska and Samoil Malceski : A Remark about Quasi 2-Normed Space, Applied Mathematical Sciences, Vol.9(2015), no.55, 2717-2727.
2. Amalendu Choudhury and T. Som: 2-Banach space and some fixed point results, Journal of Indian Acad. Math. Vol.33, No.2(2011) pp 411-418.
3. V.H. Badshah, Rekha Jain and Saurabh Jain: Common fixed point theorem for four mappings in Complete Spaces, Journal of Indian Acad. Math. Vol.33, No.1 (2011) pp.97-103.
4. P. Chuhan and N. Malviya, Fixed points of expansive type mappings in 2-Banach spaces, Int. J. Anal. Appl. 3, No.1 (2013), 60-67.
5. Cong Wu and Yongjin Li, Journal of inequalities in pure and applied mathematics, Vol.9, Issue 2 (2008).
6. S. Gähler, Linear 2-normierte Raume, Math. Nachr., 28, No.1-2(1965), pp. 1-43.
7. K. Iseki, Mathematics on two normed spaces, Bull. Korean Math. Soc.13, No.2 (1976), pp.127-135.
8. Iseki K (1976): Fixed Point theorems in Banach Spaces, Math. Sem. Notes, Kobe Univ., pp. 211-213.
9. M. Kir and M. Acikgoz, A study involving the completion of quasi 2-normed space, International Journal of Analysis (2013), <http://dx.doi.org/10.1155/2013/512372>.
10. Khan M S., Khan M.D., (1993) : Involutions with fixed points in 2-Banach Spaces, Int. J. Math & Math. Sci., 16, pp. 429-434.
11. Kristaq Kikina, Luljeta Gjoni and Kostaq Hila, Quasi-2-Normed Spaces and Some Fixed Point Theorems, Appl. Math. Inf. Sci.10, No.2 (2016), pp.469-474.
12. S. Mantu, D. Debashis, G. Anamika and D. Lokenath, Asymptotic regularity and fixed point theorems on a 2-Banach space, Surveys in Mathematics and its Applications 7(2012).
13. C. Park, Generalized quasi-Banach spaces and quasi-(2, p)-normed spaces, J. Chungcheong Math. Soc. 19, No.2 (2006), pp.197-206.
14. S. Romaguera, A. Sapena and P. Tirado, The Banach fixed point theorem in fuzzy quasi-metric spaces with application to the domain of words, Science Direct, Topology and its Applications 154(2007), pp. 2196-2203.
15. Silvana Liftaj, Luljeta Gjoni and Kristaq Kikina, Fixed Point theorems in Quasi-2-Banach Spaces, Journal of Scientific Research & Reports 3(11):1534-1541, 2014.
16. Som. T., (2005) : Some fixed point results in 2-Banach Space, International Jour. Math. Sci. 4(2), pp. 323-328.

Source of support: Nil, Conflict of interest: None Declared.

[Copy right © 2018. This is an Open Access article distributed under the terms of the International Journal of Mathematical Archive (IJMA), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.]